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2025-2026 Examination D

Notice

T You must choose to take the exam either in English or Japanese. Use the answer sheet

2

coJo 01w

9

for the language that you chose.

If you choose to take the exam in Japanese, answer the problems in Japanese. If you
choose to take the exam in English, answer the problems in English.

Confirm that your question booklet and answer sheet match your chosen language.
The English exam is an approximate translation of the Japanese, not a direct translation.
There are five problems from [/ to[5], printed in English on pages (020 - 42).

The examination is 50 minutes long.

You must not read the problems aloud.

Be sure to clearly write all of the answers on the answer sheet. Submit only the answer
sheet at the end of the examination.

When you rewrite an answer, be sure to completely erase what you have written, then
write your new answer.

10 Be absolutely sure to write your examinee humber on the bottom right of both pages

of the answer sheet.
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English Version
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we%1- L 2 m# (English Listening Test)

XFREIZ, M1 ~B5FETHbMHY) £7,
(There are 5 problems from 1to 5)
MEZBIIT N 2BT S5 ETNT T, FARKI AT 2R CENTVWELA, B2 12T
BREKFARIZIEN L W0 X\,
(All of the English sentences will be read aloud twice each. You may take
notes on the test booklet. Write all of your answers on the answer sheet.)

B Miki (%) X414, — 4 IZmA T2 2 o 1A 0 Jack (D » 7) XA EH - CnE T,
2ADEEZT ST, ZONBENLEZLNL, 2ANGIREHYPEL (B INTWELEEX
DT ~IDFNL 1 DB, 85 TEZL I,

(Problem 1: Miki is inviting Jack to go out somewhere. Listen to their
conversation and choose the picture that best shows the animals that they
like. Answer with the katakana character of the picture from “77, “147, “~”,
or “z”,

7 _ _ 1

12 Olivia (F ) E7) SA Y Keita (IT\W/2) SANERLDBWHIZOWTEZ L TWE T,

2ADLFE W, 2EOREDEMIIHTL2EZY L TELVWEDEZ, HrinLEINS
T~IDHENEL 1T DBV, 25T TEZL I\,

(Problem 2: Olivia and Keita are talking about their memories from summer
vacation. Listen to their conversation and options represented by the
katakana characters “77, “17, “7”, and “=”. Choose the best answer to the
question at the end of their conversation, and answer with that katakana

character.

HAS =~ X
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B3 Mary (A7) =) XAk, Wh{hor<y FOREETEDIZ, XETLOH B>

WTERBYEZ L TWET, Mary (A7) —) SADEZHNT, Mary (A7) —) SADKR

DY LTELWEDEZRDT~ZDFNEL 1 DB, 25 TEZL I\,

(Problem 3: Mary is looking for her lost dog, so she is talking to a police officer
about what her dog looks like. Listen to Mary and choose the picture of the
dog that best fits her description. Answer with the katakana character of
the picture from “7”, “47, “>”, or “x”.)
7 1

Bld Alex (7L vy 7 RA) AL, BAEX /\/ﬁ‘ﬁ)gk\%égiﬂfk\i’s"o 2 ADEE % BV,
Alex (7L v 7 R) SANE I EDIZEIREZRDT~IZDFNL 1| DB, 85 TEZL X
(Y

(Problem 4: Alex’'s mother is asking him to go shopping. Listen to their
conversation and choose the picture that best fits what Alex needs to buy.

” 13

Answer with the katakana character of the picture from “77, “147, “~%”, or
“l”_

7 A
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D B S AN

156 Jenny (2= =—) L&A LVALT T, LEDFEZH S, éafﬁé’ INDRRAY — % TRk
SHELL I REDBERMNRRY —DODIZIZBEDE £ ) FVDAREZRFT TEREANL L IV,

A

7L, RERAGARIZRZ THA, @I2IE, REDOFBWEIRF TEALL IV, £2012®@|C
B ASRBRYLTCELVWEDZ QUET~T7DFNL @DIET~DFNLZNTNT OF DB
T TCEZL I\,

(Problem 5: Ms. Jenny is a new ALT (Assistant Language Teacher). Listen to
her speech and complete her self-introduction poster. For poster section @,
write the number of siblings that she has. Be careful not to include Ms. Jenny
herself in that number. For section @, write Ms. Jenny’ s age. For section 3,
choose the correct picture from the options represented by the katakana
characters “77, “17, and “7” and answer with that katakana character. For
section @, choose the correct picture from the options represented by the
katakana characters “=”, “#7, and “7 7, and answer with that katakana
character.)

Ms. Jenny’ s Self-Introduction

+ Number of siblings
(Not including Ms. Jenny)

CD person(s)

@ years old

* Birthday - Likes

©) @

N @

/3 %0 %43

o
NS
N
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Elementary school 6™ grade students Taro and Hanako are looking at their school’s
upcoming Sports Day Schedule.

Answer Problems 1-5 below.
Resource 1 Sports Day Schedule

Activity Type Start Time | End Time | Grade
1 | Opening Ceremony — 8:30 AM 8:45 AM All
2 | Warm-up Stretches — 8:45 AM 8:55 AM All
3 | Soran BushiDance Performance 8:55 AM 9:05 AM 4th
4 | Hip Hop Dance Performance 9:05 AM 9:15 AM 6"
5 | 100-meter Dash Competition 9:15 AM 9:25 AM 5th
6 | Tug-of-War Competition 9:25 AM 9:35 AM 3
7 | Throwing Balls into Baskets | Competition 9:35 AM 9:45 AM st
8 | Big Ball Rolling Competition 9:45 AM 9:55 AM 2nd
9 | Creative Dance Performance 9:55 AM 10:10 AM 5th
10 | Hula Dance Performance 10:10 AM 10:20 AM 3
11 | Obstacle Course Relay Competition 10:20 AM 10:30 AM 4t
12 | 15t Grade Dance Performance 10:30 AM 10:40 AM st
13 | 2 Grade Dance Performance 10:40 AM 10:50 AM 2nd
14 | Red Vs. White Team Relay Competition 10:50 AM 11:10 AM 6t
15 | Closing Ceremony — 11:10 AM 11:25 AM All
Resource 2 Number of Students per Grade
Grade | Red Team Students | White Team Students | Total Number of Students

st 48 48 96

2nd 49 49 98

3 48 48 96

4t 47 47 94

5th 49 49 98

6™ 48 48 96

Problem 1: According to Resource 1, how long is the event from the start of the opening

ceremony to the end of the closing ceremony? Give your answer in hours and minutes.

Problem 2: According to Resource 1, what percent of the whole day’ s performance and
competition activity time is made up of 6 grade competitions? Round your answer to

the nearest whole number.
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[Conversation between Taro and Hanako]

Hanako: How was your time in the 100-meter dash to decide
the running order for the red vs. white team relay?

Taro: My 100-meter dash time was 17.1 seconds.I’ monthe
red team, and my time was on the slower side for
my team. Among the red team’s 6" graders, the
number of people who had times faster than 17.1
seconds was 5 more than the number of people
who had times slower than 17.1 seconds.

Hanako: Is that so? When I looked at the times all of the 6" graders from both the red
and white teams, the number of people who had times slower than 17.1
seconds was 3 more than the number of people who had times faster than
17.1 seconds. Also, no other 6™ grader had a time of 17.1 seconds. Therefore,
we can say that, while 17.1 seconds is on the slower side for the red team,
when adding the white team and looking at everyone’s times, it is on the
faster side.

Taro: I see. I wonder how many 6™ graders on the white team had times slower than 17.1
seconds.

Problem 3: According to Resource 2 and [Conversation between Taro and Hanako], how
many 6% graders on the white team had 100-meter dash times slower than 17.1
seconds?

As shown in Image 1 below, the 100-meter dash will take place on a track with both
straight and semi-circle sections. Each lane is 1 meter wide and the straight section
is 36 meters long. Also, the radius of the outermost semicircle is 18 meters. The finish
line for all lanes is the same, but the starting positions of the outer lanes are moved
up to make each lane the same length. The innermost lane is lane 1, and the
outermost is lane 6.

Image 1, 3 i
| -f”:,__ I
: |
! — |
f: Finish Line | :
| I | :
| | | |
|/- | | I
[[[[]][semi-circte Straight | Semi-Circle) \x\l\ i
!rJ [ | f / Section =|r= Section ;Iﬁ Section |: | ] | \ U
T 18m 36m ©tem J]]]]]
| |

|
|
|
|
|

[

N\ \ll' \ \ : l
I | i
| | i

[
: : Lane 1 I: Starting position of |
Vil each runner B :
: 17 Running Di[gction _—_Jr’_,“% :
| eI I > |
| S i

Pt ts
| | =T =
| i

Lane 6 Each lane is Tm wide
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Problem 4: According to Image 1, how many meters ahead of the starting position of lane
1 is the starting position of lane 6? Assume that each runner runs in the middle of
their 1-meter-wide lane and that the starting lines have no width. Also, assume that
pi equals 3.14.

For the red vs. white team relay event, the white team has decided their running order
according to the following [Running Order Rules).

[Running Order Rules]
‘The person with the fastest 100-meter dash time runs last.
‘The person with the second fastest 100-meter dash time runs first.
‘The person with the slowest 100-meter dash time runs second to last.
‘The person with the second slowest 100-meter dash time runs second.
‘The person with the third fastest 100-meter dash time runs third to last.
‘The person with the fourth fastest 100-meter dash time runs third.

In this way, people with fast 100-meter dash times and people with slow 100-meter
dash times alternate in the running order. The same person does not run twice. The
numbers in Image 2 below follow these rules and show how to decide the order based
on the students’ times from fastest to slowest.

Image 2
2. 4T, A, 4B, e 4 6 30 48, 1
First i

Problem 5: Hanako'’ s time was 17t fastest among the white team’ s members. Also, nobody
else in the white team had the same time. According to Image 2, in what position from
the front of the order will Hanako run?
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- Taro is talking to his teacher about his summer research project which is
° investigating pressure.

Answer problems 1~4 below.

[Conversation @ between Taro and His Teacher]

Taro: I have decided to investigate pressure for my research project. How do you think I

should investigate it?

Teacher: For example, when you walk around in a sandbox, which do you think will leave
deeper footprints, walking normally or on tiptoes?

Taro: That’ s easy, of course walking on tiptoes will leave deeper footprints.

Teacher: That’ s right. However, whether walking normally or on tiptoes, both are putting
the same amount of weight on the sand. Then why does walking on tiptoes leave
deeper footprints?

Taro: Walking on tiptoes puts the force on a smaller area, so the footprints should be
deeper, right?

Teacher: That's right. In this way, we can explain pressure by comparing it to leaving
deeper footprints. When one thing touches another and exerts force on an area,
the vertical force exerted on 1m? of that area is what “pressure” is. The unit for
pressure is Pa(Pascals), and it can be calculated using the following formula:

Formula for calculating the pressure that an object exerts on an area
Pressure(Pa)=
The vertical force exerted on an area(N) =+ The area on which the force is exerted(m?)

Taro: The unit for force is written as N, not kg?

Teacher: N stands for Newtons. The unit of force is actually not kg f }/frrc“ec?nlc
but N(Newtons). The vertical force exerted by a 1kg about
) ) 450N on
object on the ground is roughly TON. For example, a the
person who weighs 45kg exerts about 450N on the ground
ground. If that person stands on one foot and we say that
Bottom of the foot

the area of the bottom of their foot that contacts the
groundis 150cm?, the amount of pressure exerted on the
ground is 450-+-0. 015, or about 30,000Pa.

Problem 1: When a person stands on one foot, the area of the bottom of their foot that

contacts the ground is 150cm?. When they stand on tiptoes, the area of the bottom of

their foot that contacts the ground is 50cm?. In this case, compared to standing on one

foot, how many times more pressure is exerted on the ground when they stand on tiptoes?
Normal Standing on tiptoes



[Conversation @ between Taro and His Teacher]

Teacher: Which do you think exerts more pressure, an elephant standing on the ground
or a human standing on the ground using stilts?

Taro: It has to be the elephant, right? With that much weight, the pressure must be
more.

Teacher: Okay, let's learn how to calculate pressure using the [Conditions] below
about an elephant and a human using stilts.

Taro: Sure, I will think about the [Calculation Methods].

[Conditions] Assume that both the elephant and human using stilts are
standing vertically on the ground

@ ']
v ¥
i o
Weight of the elephant: 4,000kg Weight of the human using stilts: 62kg
(Including everything they wear such
Area which contacts the ground as clothing)

(per one foot): 0.1m?2
Weight of the stilts (per one stilt): Tkg

Area which contacts the ground (per
one stilt): 0.0006m?

[Calculation Methods]
When the elephant stands on 4 feet, each foot bears the total weight of 4,000kg
divided by 4, so 1,000kg. From this, the vertical force that one foot exerts on the
ground is 10,000N. Therefore, when we divide the 10,000N by 0.1m?, the area which
contacts the ground, the pressure which is exerted on the ground from one of the
elephant’ s feet is 100,000Pa.

Problem 2: According to the [Conditions)] and [Calculation Methods), answer (1) and (2)
below.

(1) When the human’s weight is evenly distributed between the two stilts that are
standing on the ground, calculate the pressure in Pascals that is exerted on the

ground from one of the stilts. Round your answer to the nearest whole number.

28




(2) Comparing the pressure that is exerted on the ground from one of the elephant’s
feet and the pressure that is exerted on the ground from one of stilts being used
by the human, choose the best answer below. Answer with the katakana character
from “77, “47, “>”, or “=”,

7 The pressure that is exerted on the ground from the stilt is three times larger
than the pressure that is exerted on the ground from the elephant’ s foot.

1 The pressure that is exerted on the ground from the stilt is five times larger than
the pressure that is exerted on the ground from the elephant’ s foot.

7 The pressure that is exerted on the ground from the stilt is seven times larger
than the pressure that is exerted on the ground from the elephant’ s foot.

* The pressure that is exerted on the ground from the stilt is nine times larger
than the pressure that is exerted on the ground from the elephant’ s foot.

[Conversation @ between Taro and His Teacher]

Teacher: As for pressure, there is also pressure
caused by the weight of water. We call that
“water pressure”. Let’ s think about the
pressure exerted on the bottom of a pool.
The pool is 25m long, 16m wide, and 1.1Tm
tall. Let’ s say the water fills it up to the Tm
level. In this case, how much pressure in
Pascals do you think is exerted on the
bottom of the pool?

Taro: We can think about this the same way as before. We need to think about how
much the water weighs in grams. How do you think we can find that?

Teacher: 1L of liquid water weighs 1kg. Use that to find the weight.

Taro: I see. The volume of the water in the pool is 25X16Xx1=400(m?3), so that is
400,000 L. Therefore, the weight of the water in the pool is 400t(tons)
=400,000kg. In that case the vertical force exerted by the water on the
bottom of the pool is 4,000,000N. The area of the bottom of the pool is
25X16=400(m?), so I think that the water pressure would be 4,000,000+400
=10,000(Pa).

Teacher: Nicely done, that’ s right.

Taro: Now I understand about water pressure. How about other liquids like oil or juice?
Can we think about them in the same way?

Teacher: It is the same. Whether oil or juice or other liguids, thinking about the weight
of the liguid and calculating the force that is exerted on the surface will use
the same process.

Water depth
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Problem 3:If they all have the same rectangular prism container and are filled to the same
height, which of the following liquids will exert the most pressure on the bottom of

its container? Answer with the katakana character from “7”, “17, “>”, or “=”.

7 Cow’ s milk (1,0309 per 1L)

1 Soy sauce (708g per 600mL)

~ Honey (2529 per 180mL)

= Worcestershire sauce (600g per 500mL)

Problem 4: A device to measure water pressure has been installed in an iron box and sunk
into the sea. Under the following [Conditions], how many meters deep underwater
would the top of the box be?

[Conditions]

The iron box is a 40cm long, 40cm wide, and 15cm tall rectangular prism
-The water pressure exerted on the top of the box is 3,090,000Pa

-Sea water weighs 1,030kg per 1m3

Iron box

4~ Top

1 5crﬁ 40cm

T —40cm~— --
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Taro and Hanako are talking about vegetables.

Answer problems 1~3 below.

[Conversation @ between Taro and Hanako]

Taro: Saitama is a prefecture with really thriving vegetable production.

Hanako: Yes. I learned about it in class at school. The yearly production of
vegetables in Saitama Prefecture in 2021 was 9t in the country.

Taro: I know that Saitama Prefecture’s vegetable production is thriving, but I
don’t know many details about Saitama Prefecture’s vegetable
production and trade.

Hanako: In that case, let’ s look at some resources regarding Saitama
Prefecture’s vegetables.

Resource 1 List of Saitama Prefecture’s Resource 2 Sales of Saitama

top 5 main agricultural products’ Prefecture’s main agricultural
planted areas™ and harvest products at Tokyo Metropolitan
volume (2021) Central Wholesale Market (2021)
Plarted | farvest
(ha) (t) (1) (¥10,000)
Green Onion 2,150 52,400 Green Onion 4,461 204,544
Spinach 1,820 22,800 Spinach 1,056 48,824
Broccoli 1,200 16,000 Broccoli 2,639 85,432
Komatsuna 808 14,300 Komatsuna 2,667 71,030
Edamame 638 5,570 Edamame 481 36,716

%1 Planted area is the area of the fields
in which a crop is planted

(Resource 1 and Resource 2 are based on the “2023 Statistical Yearbook” by Saitama Prefecture)
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Resource 3 Breakdown of Saitama Prefecture’s Yearly Agricultural Production (2021)
Fruit 3.5 Other 3.9

152,800 (L/egetables

million

(Based on “2021 Statistics of Agricultural Income Produced”)

Problem 1 Which of the following best describes what we can understand from
Resources 1~37? Answer with the katakana character from “7”, “4 7, “>”, or “=”.

7 The sum of the planted areas of green onions and spinach in Saitama
Prefecture is more than 3,000ha, and the volumes of green onions and
spinach from Saitama Prefecture handled by the Tokyo Metropolitan Central
Wholesale Market are each more than 10% of their total harvest volume.

1 The sum of the planted areas of Saitama Prefecture’s top 5 main
agricultural products is more than 5,000ha, and the sum of the volume of
those top 5 main agricultural products handled by the Tokyo Metropolitan
Central Wholesale Market is less than 10,000t.

7 The harvest volume of spinach in Saitama Prefecture is more than 10t for
each Tha, and Saitama Prefecture’s yearly agricultural production of
vegetables is worth more than 80,000,000,000 yen.

T Saitama Prefecture’s yearly agricultural production of vegetables is
roughly three times more than that of rice, and the total sum value of
Saitama Prefecture’s main agricultural products handled by the Tokyo
Metropolitan Central Wholesale Market is more than 4, 000, 000, 000 yen.
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[Conversation @ between Taro and Hanako]

Taro: My parents tell me “You need to eat your vegetables to have balanced
nutrition.”

Hanako: Having balanced nutrition is very important. The other day, I learned
about the “Balanced Diet Guide”, which gives advice about how to
have a balanced diet.

Taro: What is that?

Hanako: It uses an image of a spinning top to show how much of which foods
you should eat in one day. The higher the group is in the image, the
more important it is to eat a lot of those foods. If your diet is
balanced, the top should spin well, but it will fall over if your diet isn’ t
properly balanced. How much one should eat in one day, called one’s
“proper diet”, changes according to age, sex, and how much exercise
one does.

Taro: I want to find out if my diet is balanced or not.

Resource 4 Balanced Diet Guide and its explanation

@ 4 . Water and tea
- One day

5~7 Staple foods (rice, bread, noodles)
servings |For rice, about 4 medium bowls

5~6 Side dishes (vegetables, mushrooms,
servin potatoes, seaweed dishes). For vegetable
gs .
dishes, about 5 plates.

3~5 |Main dishes (meat, fish, eggs, soy dishes)

servings |For meat, fish, or soy dishes, about 3 plates

2 Milk and dairy products
servings |For milk, about 1 glass

2 Fruits
servings |For mikan, about 2

products, and fruits.
‘How much of each group to eat is counted in “servings”.

-Think about the 5 groups: staple foods, side dishes, main dishes, milk and dairy

(example)One rice ball=one serving of a staple food, one boiled egg=one serving
of a main dish, one mikan=one serving of a fruit, and one plate of groza=one
serving of a side dish and two servings of a main dish, because it contains
both vegetables and meat.
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(Note)The examples in Resource 4 combine for about 2,200kcal. This is the standard for an
elementary school upper grade student who has at least normal levels of activity. “At

least normal” means that they play outside during recess and walk or run often.

(Based on the “Balanced Diet Guide” by the Ministry of Health, Labour and Welfare and the
Ministry of Agriculture, Forestry and Fisheries)

Resource 5 Proper diet of 12-year-old boys and girls who have at least normal
levels of activity

Staple Side Main Milk and Dairy Erllits
Foods Dishes Dishes Products
12-year-old boys | 7 servings | 7 servings | 5 servings | 3 servings | 3 servings
12-year-old girls | 6 servings | 6 servings | 4 servings | 2 servings | 2 servings

(Based on the “Balanced Diet Guide” by the Ministry of Health, Labour and Welfare and the
Ministry of Agriculture, Forestry and Fisheries)

Problem 2 One day Taro, a boy, and Hanako, a girl, who are both 12 years old and
have at least normal levels of activity, each ate the [number of servings Taro
and Hanako ate for breakfast and lunch]. They displayed the percentages of
their proper diets that they’ ve eaten for breakfast and lunch as radar charts.
According to Resource 5, choose one radar chart for Taro and one radar chart
for Hanako from below that show the percentages of their proper diets that
they’ve eaten for breakfast and lunch. Answer with the katakana characters

from

557"’ “4/ ”’ H|_7”’ “i_"’ “j‘"’ Or_ “77”.

[number of servings Taro and Hanako ate for breakfast and lunch]

Staple Side Main Milk and Dairy Fruits
Foods Dishes Dishes Products
5 servings 5 servings | 4 servings 2 servings 1 servings
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T (%) Staple foods 1 (%) Staple foods 7 (%) Staple foods
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Milk and dairy\ . Milk and dairy“—f . Milk and dairy
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products dishes products dishes products dishes
T (%) Staple foods x (%) Staple foods 77 (%) Staple foods
Side
dishes
( U ]
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\\ ‘\ \\
A A \‘\ \
\\'.I \\\ \\
‘\“\ \"'.
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Milk and dairy Main Milk agd (.:Icalry‘ Main Milk and dairy Main
products dishes products dishes products dishes
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[Conversation @ between Taro and Hanako]

Hanako: My mom said, “Recently the price of vegetables has gone up.”

Taro: The price of vegetables changes with production. For example, eggplants
are in season during summer, so more are produced and the price is
cheaper in summer.

Hanako: Production also changes with the weather, right? When there are heat
waves or long rains, I’ ve seen on the news that they affect
vegetables’ harvest volume.

Taro: Let’ s look into how weather affects vegetables’ production and costs.

Taro and Hanako looked into changes in weather and lettuce production in
2021 and 2022, then summarized some of the information in Resource 6.

Resource 6 Effects of changes in weather and production on the price of lettuce

Month and Year Changes in Weather and Production

Due to mild winter, production was more than
average years*?,

Due to long rains and lack of sunlight, production
was less than average years.

Due to rising autumn temperatures, production
was more than average years.

Due to low temperature and drought, production
was less than average years.

Due to the early start of rainy season in June and
July~August 2022 favorable temperature with appropriate rains in
July, production was more than average years.

February~March 2021

September 2021

October~November 2021

January~February 2022

%2 Average years- the average of the same month through the last 5 years

(Based on “The State of Vegetables” by the Ministry of Agriculture, Forestry and Fisheries)

Problem 3 Taro and Hanako summarized information about the price of lettuce in
2021 and 2022 in a line graph. For each month, they included the Tokyo
Metropolitan Central Wholesale Market’s wholesale price and the average
year’'s price. Choose the best graph below that shows the information which
Taro and Hanako summarized. Answer with the katakana character from “77, “1”
“77 or “x”,
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Answer problems 1~4 below.
[Conversation @ between Taro and Hanako]

Taro: Because of last year’ s Olympic and Paralympic Games in Paris, France, I' ve
taken an interest in France. First, I located France on a globe.

Hanako: France is in Europe, the western part of the Eurasian Continent, right?

Taro: Yeah. When I looked at the globe, I realized that there is actually a lot of
land around France. When I looked it up, I learned about the “Land
Hemisphere”. Take a look at Resource 1. The Land Hemisphere is the half
of the Earth where most of the land is concentrated. The center of the
Land Hemisphere is by the mouth of the Loire River in France. Also, on
the opposite side of the Land Hemisphere is the “Water Hemisphere”,
which has most of the Earth’ s water.

Hanako: So, to find the center of the Water Hemisphere, can we take the spot at
the mouth of the Loire River and go straight through the center of the
Earth to the exact opposite side?

Taro: That’ s right. These kinds of points that are exactly opposite from each other
on the Earth are called “antipodes”. The integer latitude and longitude of
the center point of the Land Continent are 47°North and 2°West, and the
antipode of the Land Continent’ s center point (the center of the Water
Continent) is at 47°South and 178°East.

Hanako: Does that mean that the antipode of 15°South and 135°West would be
15°North and 45°East?

Taro: Exactly.

Resourcel The Land Continent and Water Continent

at the Equator (O°

latitude) into North
and South, which

A~ Center of each have 90°, and

— /
7 L7 Center of

~ II'- = /.',/ izt . b A ) H H
~L. | ¥ the Land = | = the Water at 0° longitude into
Continent Continent East and West,
which each have
180°.

38



Problem 1 Saitama City’s position on the Earth is at 36°North and 140°East. Choose
the best answer below that shows Saitama City’s antipode. Answer with the
katakana character from “77, “4 7, “~”, or “=”,

7 54°North and 140°East 1 36°South and 40°West

~  54°North and 40°East = 36°South and 140°West

[Conversation @ between Taro and Hanako]

Taro: It is said that the first Japanese person to visit France was Hasekura Tsunenaga.
In 1613, Hasekura Tsunenaga was ordered by the ruler of Sendai Region in
Northeast Japan, Daimyo Date Masamune, to travel to Europe to meet the
King of Spain and the Pope. Hasekura Tsunenaga landed in Spain, went
through what is now France and Italy, and came back to Japan 7 years later
in 1620.

Hanako: I wonder what route his ship took.

Taro: Resource 2 is a diagram of the San Juan Bauftista, the ship that Hasekura
Tsunenaga used to cross the Pacific Ocean. This ship used sails which were
attached to tall poles to catch the wind and move the ship forward. When he
arrived at Acapulco, Mexico, Hasekura Tsunenaga got off the ship and
proceeded over land. After that, he crossed the Atlantic Ocean and arrived in
Spain. Hasekura Tsunenaga went to Europe and came back to Japan using
different routes.

Hanako: Oh, it wasn’ t the same route? What routes did he take?

Taro: Take a look at Resource 3, which shows the directions of winds and ocean
currents on the Earth and think about it.

Resource 2 diagram of the San Resource 3 Directions of Earth’s major
Juan Bautista winds and ocean currents
“2Ocean Currents—> <

= Winds

S
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Problem 2 Choose the best answer below that shows the routes that Hasekura
Tsunenaga took. Answer with the katakana character from “7”, “4 7, “~”, or “=”.

—To Spain !
“=saTO Japan:

5

- it «\b &Wiﬁéﬂ’&\ %\rﬁﬂ \t}}tf“‘ﬂ}hﬁ
. \y\'\, Spain

1{;/ Acapulco "\,‘73/—,’?“3\:&"‘@" -

."'-Lf”-“s. . 2 I\\ {D. ) ,:«“‘f \1_.- 5 _;r.'I z
A A P 3 s ot
L"“t.} 'I / L 4 ’ R " \; —To Spain | ¢ w

L] /.;] 5 &}J 3

=20 To Jaoan]t F

=——T0 Spain /
-=---:T0 Japan ;’
L

_/
:

—To Spain |
=---To Japan ’; 5'

5

[Conversation @ between Taro and Hanako]
Hanako: Next I want to know about France’s manufacturing industry.
Taro: Like Japan, France’ s automobile production industry is very successful. I am
going to compare the production of automobiles in major countries.
Hanako: I have a resource that shows how many automobiles major countries
produce, export, and own. With this, we might be able to find the
different characteristics of each country.

Resource 4 Number of automobiles produced, exported, and owned by major

countries (2020)

Total Number of Total Number of Number of
Country Automobiles Automobiles Automobiles Owned
Produced Exported per 1,000 Population
The United States 8,821,026 2,366,553 860.4
of America
India 3,381,819 454,731 32.7
South Korea 3,506,774 1,886,683 457.7
China 25,225,242 1,001,971 223.2
Germany 3,742,570 2,811,524 627.3
Japan 8,067,943 3,740,832 612.4
Brazil 2,014,055 330,354 214.5
France 1,315,997 4,157,663 704.4

(Note) Total Number of Automobiles Produced includes passenger vehicles, trucks, and busses.
Additionally, France exports automobiles that it has imported, so the number of automobiles
exported exceeds the number of automobiles produced.

(Based on a resource by the Japan Automobile Manufacturers Association)
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Resource 5 Bubble Chart Showing the Total Number of Automobiles Produced, Total
Number of Automobiles Exported, and Number of Automobiles Owned per 1,000
Population of the 8 Countries of Resource 4

(10,000 Vehicles) [Bubble Charts]
) ehicles . .
500 ——— -A graph which uses the vertical
450 ke X i axis, horizontal axis, and size of
3 D @ 5 f . . .
£ ) ; ; circles to show the relationships
S 400 i s ;
3 ~ & | :5 between three sets of data
350 o .
ki ® | = ‘Resource 5 uses the size of the
Q' ann Sell. i .
o, S0 i/ s s circles to show the number of
; - _
§ 250 [ _--j” .// \\'\:I"' automobiles owned per 1,000
5 200 (iR .- population
S el S RO -The centers of the circles
2 o represent the values
= |0 ) . .
g @ ® @ o corresponding to the vertical
T S0 Eme T and horizontal axes.
L _/' :
O — i i i H
0 500 1000 1500 2000 2500 3000 (10,000 Vehicles)

Total Number of Automobiles Produced

Problem 3 Choose the circles that represent France, Japan, and India in Resource 5.
Answer with one number each from ®~®.

[Conversation @ between Taro and Hanako]

Taro: Let’ s look into France’s international trade. I found Resource 6, which
shows France’s top 5 import and export partner countries and the value
of those imports and exports.

Hanako: Could you understand something about France’s international trade from
looking at this?

Taro: Yes. Let me summarize what I found using this and other resources.

Resource 6 France’s Top 5 Import and Export Partner Countries (2022)

Exports Imports
Export Value Import Value
P P
artner Counitry (in millions of dollars) artner Country (in millions of dollars)

Germany 84,478 Germany 119,764

Italy 56,301 Belgium 91,841
Belgium 48,724 The Netherlands 66,887

The United States 48,666 Spain 63,230

of America

Spain 46,631 Italy 60,293

(Based on “World Country Picture Collection 2023/2024”)
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Resource 7 EU (European Union) Resource 8 An Example of International

Member States Trade Involving EU Member States
Ireland TItaly Estonia ——EU Member States —
Austria The Netherlands Cyprus Member
Greece Croatia Sweden State algrig?;d Non-EU Countries
Spain Slovakia Slovenia . Export 4
Czechia Denmark Germany /Impogi:ge not\
Hungary Finland France o — e
Bulgaria Belgium Poland State |4mmp| State #Goods are soldat 2
Portugal Malta Latvia b < e Ve
Lithuania Romania Luxembourg

[Taro’s Summary]
From Resource 6 and Resource 7, aside from the United States of America,
France’s top 5 import and export partner countries are all [ A _]. Also, as shown
in Resource 8, aside from the United States of America, between the top

countries, | B | soIcan understand why their international trade is so
successful.

Problem 4 Write what should go into the blank boxes| A |and| B |of [Taro's
Summary].

This is the end of the examination.
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